M10 - 7.4 - Point/Slope: Slope Intercept Form HW

Writeiny =mx+b

(1,3), m=2 (=23), m=2 (-2,-3), m=-2

(2,-3), m=0

(=3,-2), m = (1,5), m = und

(1,2), m=-6 (2,-3), m=-1 (-1,-3), m

(0'5)' m=—2 (6' _2)' m= _§ (_1’ _5)’ m=1
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M10 - 7.4 - Slope Point Form - Slope Intercept Form HW

Write in Slope Intercept Form

y—1=3(x — 4) y—4=2(x—-1) y—6=4(x — 3)
y—1=3x—-12
+1 +1
y=3x—11
y+5=3(x - 4) y+3=1x — 2)

y+6=4(x — 4)

y-9=7(+3) y—7=5@+ 1)
y—3=1(x+ 4)

y+5=3(x+5) 2
yta=5(x+3) y+8=6(x+ 5)

y—4=-2(x — 1) y—3=-1(x — 2) >
y+7=_z(x - 3)

y—10=-8(x+ 1)

8 3
y+10=—§(x+ 5) —y—5=§(x—1)
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M10 - 7.4 - Slope Intercept Form - General Form HW

Write in General Form

=1x+4 =
y=1x y=5x+9 y=6x+8
=1x—8
y= y=8x—2 y=7x-3
y=5x-5 4 2
y=§x+5 y=_§x+5
2
%:—gx—z y =8x y=9
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M10 - 7.4 - Slope Point Form - General Form HW

Write in General Form

y—4=3(x — 1) y—4=2(x —5) y—8=6(x — 3)
y—4=3x-3

+4 +4

y=3x+1

-y -y

0=3x—-y-1

1

y—7=5(+ 2) y-2=50+5) y+6=4(x — 5)

+3=1(x — 2 2
Y ( ) y+a=z(+4 y+4=2(x+5)

y—9=—=(x — 2) y—4=-2(x+ 4) y+9=-3(x —-1)
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M10 - 7.4 - General Form - Slope Intercept Form HW

Write in Slope Intercept Form

3x +1y +3=0 x+y+4=0 2x—y +4=0
3x+y+3=0
—3x - 3x
y+3=-3x
-3 -3
y=-3x-—3
8x + 8y —8=0 2x+%y_4=0 16x + 4y — 4=0

—32x + 8y + 16=0 4
*rey A —8x +=y — 12=0 3
3 —5x =3y +12=0

1.2 2y +1y —2=0
SX =3y +9=0 T3X ey —2=

2 —-1x—1y —3=0
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